[image: image1.jpg]e
{7 - ~d. 0o
Kund]={ Z 55230 P-A
fec‘— éb’/é‘ 5 ‘ 5y
CaD= 4 /66~
Ladiis (g





Photo 1. T:\Painter\portsmouthcore\R-154\R1-7fld.JPG

[image: image2.jpg]104 2004.15:18




Photo 2. T:\Painter\portsmouthcore\R-154\R2-7fld.JPG

[image: image3.jpg]1042004 15:32




Photo 3. T:\Painter\portsmouthcore\R-154\R3-7fld.JPG

[image: image4.jpg]



Photo 4. T:\Painter\portsmouthcore\R-154\R4-7fld.JPG

[image: image5.jpg]



Photo 5. T:\Painter\portsmouthcore\R-154\R5-7fld.JPG

[image: image6.jpg]



Photo 6. T:\Painter\portsmouthcore\R-154\R6-7fld.JPG

[image: image7.jpg]



Photo 7. T:\Painter\portsmouthcore\R-154\R7-7fld.JPG

